Tables are une of the commonest and carliest
wa g of storing and tabwating data, Tabulation
is the systomatic and scieriilic presentaton of
quantitative data in anch aform that it is able
to slucidate the problem under consideration.
Anaspiranl s crpected to be able to go through
a tahle, quickly and cffectively Le, with
understanding. Hasanlals of a tuble: There are
£ix essential clements of o table—

(1) Title (2) Stub {secLion containing Tow
heading) (3) Celumn captm theading of each
eolum (4) Body (5} Footnoles (6} Boures

INTERP RETATION O DATA

1t ‘e bused o the carcful assessmont of the

fzures (pumbery given i the rable. n this

process we abalyze Lhe ontries and subentries

in the table and derive conclusions regarding:

71 maxirum and minimam

f2) masinum S pinimum rate of “nereasé or
devraase :

(3 sercent change in an entry dsom the
Previous entry

(4) anycecentric behaviour of optries

(i} mnature of dependent variable ele.

IMPORTANT POLNTS EOR STATISTICAL
ANALYSIS

Ratio and proportioni@ ratic represents
relaticn beiween partandiparl whereas
proporticn ronresgnka a ve [saLion botween part
and whale. Theze) atdVvers important in
interpretation of datia,

Percentogey The word percont means
hundredihi)We a2k the zymbal "%" 1o expread
the wopd¥pere:ns”. For example. "17 pereent
mésns 7 Wandredibs”, and can be written
with 2 %armhol, ws a fraction, or as adecimal.
o provide o derimal ke a poveent. move the
dostmal point two places £ Lhe right, aidding Oz
ibnesesaary, and add the % avmbol.

To eomvert A Tractiom wu o poreent, frst comvert
the fraclion o 2 decimal, and then convert the
decimal th a pereent, as indicated alove.

DaTAa ANALYSIS AND INTERPRETATION
(TABLES AND GRAPHS)

N.5375 = 37.8%., 0.3 = 30%, L0 = 1000%

Llany guestions involving percents can
avtually be answered mote guickly s sad
than by using paper and pencil Sice, tile 10%:
af 2 number, jusl divide by L bwamoviag the
decimul point one place to the left: 08060 is
6. Alen, since 5% s half of\ 10%, 1ken b% of
60 iz 3 (hallol 8); and sinee J0%IsS Limes 109,
lhen 305 ol €0 is LENE, =< §).

Hates: A ratio Betfodn Lwo mapgmiudes
nsually showmiaer g period of time iz calcd
rate ur ratelof ehaage. This ratio helps us in
find:ng the ratc of chunpe over & period of time.
IFanc teacher ieheine paid at a rate Re.300 per
class anddhembis pavipent increases te Re 600
per clags, b iz obvious Lhal his payment
increasod Ty 20%,

Tepes'of ratio: (1) Part te whale; {2) Part to
part? (3) Whole to whole

There iz not much theoretical background Laat
ean Le given abour tahles: you are familkar with
them and vou have been uaing them smree
schnol days, However, spme general hints can
be supplied:

(1) Youshold make sure Qial youa look at Lhe
entire table or graph. Somothmnes some
Lrivial-locking portions may be overlooked
by a nen-sarcful examinee.

Be copnseious and awave of Lhe units used
in the table or zraph. Make sure that you
EXPECES YOUL ANSWET in correct umils.
(i£i) A very cummon mistake in such types af
questiona ariacs due ta onnfusion hetween
dorimalg and percentuwes. Don's confuse
decunala with pereontises and vioe versa.
For example, if the unils arc percentages
and an enley is given o be 3 then it
cqual to 5% which equals 003,

1t would be advisanle to leok at anawers
hefors attempting a caloulation, Sinee the
test acks for only an approximate answer,
aven a mental sevutinizing may Jead toan

{ii)

i}



1

(14)

answer of a reascoably correct degree;
saving effort and time,

Again, eince vouare asked to furnish only
An approximate answer, you may round
off oy approximate the various quantities

durtng caleulation. I'or exampls if yow arc

182=37

783
Yo muy spproximate 192 to 2 and 2 =

Ax35
.7 7890 8 and thea el gul = =04

Yoil must base your answer to cach
guestion only on the information in the
given charts and grapha. If vour
kavwledge comtradicts any of the data
presented in the grashs, ignove what wou

Lo caleuds e

Loww . First of atl, you may be mistaben:
but more unporlant, the data may refor to
a different, unspeeified locatisn ar wear In
any care, always hase vour anawer on the
prven dala.

roii) Fruadly, you should cleek 0 Lhe aonswer

TABLE
Divection : Study the follmoing toble vid answer the quesiions bidsed on it

PROGJECTED ANI? ACTUAL PRODUCTION OF CARS OF SPIFFERENT COMPANTES
{Number in @00

maker any gense. Bofors confirming vous
answer, Lake # =econd o be sure that it 15
reaszcnable. Feom the logwe of sitfitien
yiou shonld reabize that earnine Saldo®
exeeed sales. 5o by tosting vowusansswer or
reasonahlensss. von will reghze taat mou
made a mistake. Remembap that)if vou
dont know how to sdlve problemn, you.
st pucss i order Womove on. Before
pueszing, however, chogh toleee 1f one or
more of the choices are unreazonable. [
aa, chminatold tharm

ol cowgeompaved to the projected production
of cars of company 13 in vear 1988

{a) B th) 36

iy 90 iy 92

) None of theae

4, Which compuany has contineous jnorease 1o

A H C 1 E

YEAR | Projected | Actual | Projeceed | Aclow] | Projected)|  Actosl Frojeoted | Actawl |Projertad| Actnal
17 232 8] 1a 12 21 il 92 1a a2 S
1985 20 i | 21 14 A 15 Sk 1% 18 16
1935 24 15 15 14 206 20 22 21 20 12
1860 29 11 14 10 a0 a2 29 23 23 14
14091 28 TH 13 1 31 28 28 24 21 17
1902 31 ] Al 5 a8 41 40 25 2] 20
1. Which company has the high@se actual actual production of cars over these -'_f;.-'EEer?

production of cars oved™ s ydars? ) A i B

) A bl B (e} O iy b

o i) D () E

o K 5. What 1g the appreximate ™ acouazl
2. Which vear has (& lowest projacted productiom of ears comipared tn the projectad

production of dareaf 211 the 5 comparndea? nroduction of cary of I over these veara

) 1987 iy 1984 {1987-1991)7

O IRECEL dy 1802 {n} GO by 7

(g} Waneof these fe} B2 iy 74
3. ¥Whalis thepereontage of actual production e} 7T .

Selution: L. O We nquick?y o through the
eelumn of actual-preduction for differcnt
companizs A note thal DA and O lonle lilen
the top producers. Fow do we note this? We see
that all the entries lor A are ovar 20; for O, only
entry i oas than 20 bal Lhe later cmaies have



touched 3 0: und for D, on'y twe entries are less
than 20 bt the entrics ave gradually mising, weo
quickly add op the entrics of these 3 coHrDaAnIEs
ana find Lhat ©is the higheal produce.
21957 (by simple nspectiony; 5. H0% (131s 4 1
of &0; 1. 1 5. T4%.

GRAPHS
1. CIRCLE GRAPHS (PIE CHARTS)

Civeular Craphe are used o zhow how various
snctor= share in the whole, Sometincs they are
sl peferrnd o as pie, charts. The percentage of
gach seetor 1 usually denoted in a circks grayh.
Tirections: fefor to ihe following pe charis.
College Enrollment, by Age and Sex:
1975 and 1935

Frarale. e (han
Sam, lram Uan 2% F 25 year gid
oG el aos
3%
Famale, 25 ymam
Mal=, 05 woam old oH and ereec
T
-

L

Waly, ks bnan ?5
yrary ol
iy

Furnale, ks an

25 yearrakd
%

Male, 23 yeare old
s epr

1 Feffid &, 29 yEars

i andf s
I

19945
Souree: L9 Aurean of dheCensts, Cerrend
Popnedation Survey
L If there were 1,000.000¢0 ege students in
1075, how manvimnregmale stedents were
Uere thon fortalostudents?
(o) BOCLO00 ik 1,600,000
frp 2,400 Qe iy 5, A00,000
2 Tn @855 awhat pereent of fomale eollege
siudent@umers ot least 235 years old?

s ke i 30%
{t) 49 iy &hYa

foy TE%

= 1 the total number of sludents enrallzd 1n
college wae 40% higher v 1985 thaw in
1055, what iz the ratio of the numher of
male students 11 19985 Lo the number of
wale wudents in 1973

(1] 36 by aT
oy T iy 63
{1 1D

Solutions :

I (2) From the top graph, we zee thatin 1975,
54% (35% + 19400 aof all college students
wore malo, and tho ouher 468% wernd
female. So there wore 3,100,000 malea
and 4600000 ferales - a differdae: uf
K00, 0{H).

2. (b 1v 1979, of overy 100 college ecudents, 16
wore semale - 32 of whomewene lesathan
25 vears old, and 14 gf whomwers 23
vasys old and over. Sg, 14 of evory 46
fomale studens were al least 25 voars

r4

old, Finay, & .3 = ol

¢y brom the ’r.wf'f graphs. we see hat in
1975 Rt (38% 1 19%) uf all collepe
studemrigwers male, wheresa in 1006 the
dirrasponding fizure was 45% (28% +
174}, BePsimplivity, wesume thal there
wepe A0 eollnge students in 1975, 34 of
wrhom were malo. Then in 1995, there
were 140 collepe atudends, 83 of whom
wreve male (5% of 140 = G3). 50 the rate
of the numker of male students in 1995
te the number nf mals sruderis 1n 175
ia 63:04 = T4.

LINE GRAPHS

Lina graphs denoic bhow a quantity changea
continuously, Very oflen lhe guantity iz
maaoymed s time changes. [f the line gocs up,
the quantity is increasing; if it goes dowrn It 1=
ducreasing: if it is horizenial then the quanlity
is not changing. Tu measure the height af a
point on the praph, yooar 2ves rhould acs A5
gufficient moans.

Example: Study the following graph

carefully and answer the questions given
beluw it
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company over the vears (Ks.... in crorek,
-1I'.'I - —-—Expundlhurn
15 | e LD laeome
; T TN
20 4 N - - .
1%
0 “a
H
al - T T T T T 1
1936 1SET Rl 1909 t-101 ] 1541

1. What was the perventapge incroase in
income from 19588 1o 18597
) 104} hy 25
() B0 i 7
iy none of theee

2. Tn how muanv of the given vears was Lhe
income mare than eipenditore?
ia) one i tmo
{uy throo ) four
(o) none -ofthaee

3. In how many of the ziven yeava was The
difference between income and expendilue
ahout Ha, b crovea?
{a) ore thl e
() three W) four
ey nome o these

1. Which vears has the lifference hatwoen
incom e and expenditure about Rs, 10 erored
(a) 1Y87 & 1990 (h) 1990 & 1991
{c) 1986, 1990 & 1991 (1) 1956 & 1990
fod 1988 & 1991

a5, If the differones hetwroen 1he inéome and
expenditure was considered @s profit/in
which of the fullowing vears was Uhe vafe nf
loss maximum?

{2y 1988 (b) 1950
=k 1991 ey (1987
e none o these
Sulutions;
4 (i TH% (Approxmatelygfrora 18 croves Lo 30
Crores).

2 {h} The dpeome will be more than the
cxpenditiee & Lhe line denoting incomme
iHaldcxline) liea above the line denoting
pxpenditure {dotted line}. This iz
bappening only in 1986 and 1957, henes,
ANSWeY 157 2 vears.

4 Ne) Five vears (none of these), Exeept for
198% when both income and
expendilure equal each other, in all the
remaimng yFears the gup hetweoen the

LYY L e ‘A}Ilp‘{:ul [=3 EI_L;I'J.'J‘:'AJ. LLIGEED L1 IE7 Ei:ll) LIL
5 units on the scale.

4 () 1986, 1950, I0a]

F (e) 1991, (whern sxpenditure rxeeeds the
ineame by the largest raps.

IBAR GRAPHS|

Guantities can he compared by the height ér
length of & bar in a bar graph. A bar grachean
have eather verticl o horizomtal bars, Yon can
compare dilferent quontity or the @ame
guantity at difforent times, Use voilr pencilier
& piece of paper to eomparve bars wheeh ate not
adjacent to cach other.

DISARBRILITY EBENEFICIARIES REFORTET
AS REHARILITATED

(mumber, as percent of gll reliabilitaced clients
af state vocaticnal@rehabilipation agencles,
3‘931'&1 Ba5-19710.

1. BeLw%E:ﬁn 67T gand 1971, the largeear of
dizability honeficiavies were veportoed as
rehabilitated in the vear,

(a) 1967 ) 1970
) 1568 () 1071
{ch 1950

2. Between 1955 and 1965, about Tww many
clicntz: were rehabilitated by wolate
voeational rehabilitation asencies?

() B, 000 ) 1000000
(hy 40,000 (1 10,000.000
&) 1.000.000

Solutions : .

1, () The anewer 75 (o) sinee the Lighest har ia
the bar far 1971, The percentage ol
disability beneficiaries nut of all
rehabilitansd chents was lughor in 1969,
Lul the number was kower.

& (¢) 1.9% of thore rehabilitated wore
digabilily beneficiaries, and wers dhout
18,000 disakility  beneliciarics
rehubilitated. Seif Tie tho total nember
rehzbilitated, then 9% of T = 18,000 or



0197 = 19.000. Thua T = 19.000:.017 =
1,000,000 and the angwer 15 (¢)

CUMULATIVE GRAPHS

You can compare several categories by a geaph
ol e comulative Lype, Theso are usually baror
Line graphs where the heipght af the bar or lins
iz divided up propartionately among dillevent
yuerttics.

Dircetions: Folowrng bar diagrom shows the
imonthly expenditura af oo fomilies A& B on
food, elothing, edreation., fuel, hvuse rent and
sl iscellaneaus (i pereeittoges ).

am E——

. — -
207
A%
%

4. I both the fomilies have aame cxpend:tare,
which one speids move on educalion ans 1
mierellancous lupethor?

) A

B

() Both spend equal amounls
id} none of theso

5 Whal percentage is 3's expenditure on food
gver A's expenditure on [bad, taking equal
tobak expernditurs?

=) 10% by TO%
{cy 133.33% iy TE%
Salutions:

1. ) Money spent on cducative by [amils A
= (65 - 43) Le. 20% of cotal 2xpendil g

20
T rf tntal expenditurs

I
: of the toral cxperditure.

2, (=) Money spent en clothes Wy family 9
= (50 — 10 % of wotal experditure

- ._mennu‘ = Rs. 2000
o0

3. (b1 Meoney spent by Adn dood, clothes and
or i et B T e R e o renggm G
spent on cducalion 1o family A7 = [FH0AF - 30 B0 — 73)] % of tolal
13 2 cxprnditore 0
lal =5 LI =(f0% 08 s, OO0 = s, [ﬁ ﬂm‘ﬂ
? : = R (18000
— s of thise R, ' .
© 13 (dh nope fthese | A gkay Boney spent by A on cdueation and
3. If the weal expenditare on family B ia misecllateous
s, 10000, then woney spent on clothes by =)|(65 - 45) + (100 903]% = 30%.
this family during the yoar is Money spent by B or education &
(a) Rs. 200 {by Ha. &0{l mussellanomes
() K= 2000 . (@) Rs 6000 _ = (75 - 60 (100 95)]% = 20%
3. [ e rotal annual expenditure of famie A0S, © D's expenditure on fand = 40%
in Re. 30000, then mency spenl on faod A'a gxpenditare on food = 30%
clothes and heuse rent iz [ 44
{al Ra. 18500 (L) Bs. 18000 s percentage over A5 = -;‘jxlﬂ*'
(e Rs 21000 (D Re@T5000 = N
QUESTIONS

[Yirections: Stwdy the jable nnd auswer
the guesiioe recarding dpotion pelling

Pt O Voting  Indefferent Totel

Jor e AA) A
Mfen Head] fixL 250 1350
Women), 40 1250 50 1750
Tatal M) 2000 30 0l

1. Which of the L"ulinwin r romcluaions drawn
is most currest "
fa) L0% peaple did not take part in the
poiling
fh) Women sre less interested in polling
as compared to men
fr)  Polling have become unpopular in Indis



(el E.0%h nenple woladd not 10 Tavour 01 1he

vy

Dircetion=a: Study il teble oud omgiver
the qieesfion.

¥errr Firin's vutluvy Procesds
L1oEL 00 AMHM]
19570 3200 LY
1980 AB 5400
1990 TG BIKK)
2 Which of the fitlreing soncluzinn s noc
true ?
frr) Thore hae heen g zteady growih o
%age profit of the firm
fbt moomo o the firm becomes double in
d0ears
fel Peweentage profitin 1980 was 1 7.6%
fef) There ix 117 685%% [Mcresse in the
expenzes ol the lrm foan 1980 Lo 19490
d. Fre L purpnae af proparing 0 pic-chark
the Gowermment’'s axpenditures  on
different heads in angles are given holow,
Study them and anewer §, WNa, 4.
[ndwatrics EMy
Transpuort BlE
Sncial Services B
Agricabare 4%
Praver 4/
Lmeentaries A
Small scale industries | £t
Irrigation LG
The statement whech 15 not traEis
fa) Expenditurs on transpopt andigocrl
service combined i 303 offthe ) total
expenditure
B} Expend:iure un industsies 1= teiple
that of agriculioes '
e} Expenditurefon e gation is 2R006% of
the total cxpendtture
e} 26 of budget Tampent on industrics
Directions: Study The aroph and atiempt
erieeatlofl o,
b i, Exportimport of Indis
60 =
A \
A0 — | T
a0 /\ e N
20—
1 - A
I I N I B SR B
BRFMAMIS ASOGI NI

“+,

FEOLLLCTE CLULLC LS g S el 1L LU UL ey IL LE )

the graph?

() fmpore

and  exporl  belth bgwve

Tavowrable prospects

fbl lmport wes maximum in July bui

minimum in January

fed Im July export woer mimmum bat

mpork Wik MExiam

(i) Exportand smporl bath were ggual in

April and Nacam her

Study the [ollowing pae chaptesmd athempt
the following questions -

Expenses of a family

L
2
3.
1.

5.
f.
1.

Wheeh ponclusion hased on the diagram 15

frig
(b}

ft
fa}

Clo R
Veozotahles
Y [

Lent
Porwol
CHaers
Foody roaas

trie here?

lgppnses mm fondpraing is loss thae
thnze on rent and potrol
Expenseson clothes and veeelaules is
grocatcr than on ront, petrol and
ollers

2/3 of the famiiy's income 15 spent or
all except fond grans

Fgual amcunt of money 1s spend on
vq:g(!uﬂﬂca Ej_r:n;] Al

Toeome of a perscn feon differene sources
is cxprossed thraugh the following pie
chart, Stody thom snd answoer Lhe

fallewring queation

MR o ks

Servies

Eent,

Rank interesc
Commpany shures
Commission on hocks
Wit s salary

Halc of wrastea

With the help of the above pie chart which
of the conclusions cannet be drawn?
) Coantrbunon of conl, onseeesl, ahars

and coammigzion s more thar 4 ed chc
tarial ireome

B} Hix aalary is less than his whHe salary



fo} Incowme from service and rent o
together makes an obtuse angle in a
pie chart

fdf) Hia wile's salary is less thao the
income obhbained from rerl

Dircetiong: Popululion gromik o Didic os
shown throngh a bar diagrom., Study i and
anater bhe glesliore Noo T

00 |—

90—
30 — — r
0 -
&0 |-
53—
Al =
30 —
20 —
°ELILS

Pepulaticn in Crores

LWEL BWIT 1931-1941 1951 1961 1h71 15K

=1

Which of tke following conclusions s not

fra?

fer} Average annual increase of Tndia's
popubation is aboul vae erove

(i) Population of Tndiz in 19901z expentad
tor rize by LO% or more

fei Population in India in 1901 must have
been lews than 25 crores

fell Crrowsh rate of population from 1931
to 1961 is rmaximum

2, Runs scored by three players in 6 wifbches

ave given below, which plaver you would

like o seley, us a captain of the team?

Players I O I, ¥V VI
A 20 15 8y, &0 5 3b
B 0 B S0 @37 B3 AN
C 100130 20 J10 100 &[0

fu) C.because'ef his averape
t% D, hecdusgoeflus average and consis-
te gy,
o} ©and 5otk
) aend T3 both
Dirc@tions: Stidy the graoph mid answer Dhe
qreesiion o) 5,

Furia's Epusrbion

—_— e
7

o
I
x

* e

H\._ IR 5 1N YIS

[ U
Ll
L

Trome of Bap
pim Laalis)
5 &
=1

far)

| ] 1 1 1
THTD LATS  TRAR  194sa  1%on

9. Which conclusicn is ner trus ?
fud Profic of tlwe flrn wes minim e
1380 and maximum i 15985
‘) Bate olinerenae in ineanue iz lzasghan
that of increass in exponditames s
1550
(b There 1s o dirsco pzlagion, batwesn
inconic and expenditure sfter 1450
(2) Allofthe above
Drirections: The folloiine faBie slunies the
vaine of exporly frof Medicgsfedy U tahle
et ansiver the guekiiof:.
Bxpot! 0 N rroras

Coetry f860-al  1970-T] 38051
1.k L3450 [ T{310) o101z
TI5A 11588 2{1754 HULER
Tuasia 16548 20885 410459
Jupfan 2T 20315 HE A
Germany - 3z 23434
Malasive 5hl 1173 N84
Pakistan 42 a it £ilIG3Es
Tabal including GO0NG1 153616 R Rl

pther countrics
10, Which of the following conelusioms is
aorreet?
fw) Total  exporl  botweeon
incyeased by abauat 200%
%) The relulive shiare of the UK and T7SA
welll down conaidorably to L Lutal
cxport
fey Jupan became the major Lmporting
eountry from Endia m 1950
2] The sharve of these seven coumtiics
was mere than balf to the tetal expoet
during the whole period
11, Study the table and determine the siate
which has recorded maximum jrvpro-
vomenl in output firom I9GL to 19917

1970-80



Expor! in Bs. croves fa)d =YV (Bl A+7¥ = _2'
Siate 1361 1871 1851 1981 fo) A-2=% ) X=-% 12
TP 20 771 331 360 | 16 Whicli of the fullowing figurca docs noe
“ha <1 - : represent a linear relarionship bebwocn
Bihar 60 165 19 205 T X and ¥ 2
MP 350 270 260 370 Fhe variahios S ant -
AP 141 L4 180 41 pa
Punjab T 490 530 660 e
Haryana 410 60 . 860 70
W. Bengal 150 240 2000 170 ! ¢ ‘ [
@ UL () Punmab e C—
{c} Haryuna fd) W. Bengal @t A (hi B
12. Omthe bagisofthe above table whichetate | _ i} C fd) 47
‘dees not record any improvement in ite 17. Value of cunstand X and ¥are 140 o vespec-
autput! tively m a linear relatipuship find the
i) UP B} AP meeing vilue of ¥ in the ollowing table
¢c) Pumab (D M.P. > Y
18, Srudy the following table and determunc = :‘i
whose overall performance 1= hest umong z &
the throe. ‘;: "
Subject Ay Marks Bs Mocks U5 Marks 5 57
Mathe 30 40 35 G f) 7
Fnglish Y #ll 15 i) 13 {c!} Mene of these
Suenec 20 40 40 18 “According to the survey of area Aand B
Boe. Se. A0 ] 4} the following records wers collected. Study
GEK. an 35 39 the records and determine the cone usion
Hinds a0 pal] 1k wlich iz Dot correct. ?
fat A Toe M Ovis Purss Skhs ot Thlad
fh) B dugs  dms o
@) C o Arend R 10% 19%  13% 2N 11% 3R000
(d} Cannot be determined U | AwaB % IS ITH S MW T 35000
14. Cn the bazis of the data givenabewe which ") Thers is & difference of 1540 Hindus
of the followiny conclusipns 8 coxrect ? between these bwo areas
) L“.nghsh_m AN RSy sluhlect for fﬁ- ¢b) Number of Parsiaia area A is equal to
‘b A has failed in 3 'subiects hut B in only that of Christians in area T
une . ot 1lindopa ajned st
fc) F'erfcmlnam:e of &jn Enelieh is twice G4 cnmmﬁnit;ci;nalth ihe a}:ﬁns large
t]Tmt ot Mathe i} Al of the abowve
{d) Nofigotthe ahove 19. According to the survey of 2000 cducated
15. In the ﬁ:n]]uwmg figure determine Lhe unemploved perenns in which 1200 wera
vl of X o men aad 800 were women, the following
! datn were eollecled.
b= / fealiftooiton Frreempoved  Unsmployed
|~ s Mean RIMIFALER
Docteors 12.5% 15%)
— ! Engincery 207 FRAL
. ; - Trained Teachers 144 22.3%
T8 S0 23 20 170 3 U ERCETTRER TR T Postgradnates 29 Rlg P
(raduatea 3% il




Up the bazsigof Ehe abews table what o the
differencs 1z the namher ot unemplayad
men mind woimen dockors?

20, Accordiog loquestion 20 19w nas s the
wkal siomler of unemploeed ges loaies?
@ 1%5 i 1Th
fc) 53U f) Gt

EXPLANATORY ANSWERS

) 20 () 30
fer 40 id) Mone af these
N0 = LK
L idy: % - 61.5%

2 ey Firmw'a profl = Bevecue — Expe nues
= BAL0 — 500 = 10,
=10 66
Expenees on 1mdustries =90+ and that

of Agricu'ture = 43¢
S0 it isonly deuble, Tlere 380+ = 1009,
1807 = 304 and O¢" — 2hiy
[mpori sl exporl bolh are =0
Oucluaiing vl nothug can be waid
about fubwic prespect defirately.
Aren shown an the hasa of the degresa
tzken into acconnt here, The lme that
cut the crcle inte two halves means
division of 20% and 90% while an arcef
807 :eany oe-fourlh.
Some Lhe wngle is not gpven here eg
nething vaw be ol su sccursately.
Only estimation is possible and nothing
can ba definitely said abeut future.
For beispr pevioemance not anly
AVETAZE M Mt nr ot conaistenoy 1s
much more important. Uansiarricy
meane Difference betweon the highiat
goore and the lowest soarc frRlign)
should Le minimuom  withmlcast
Oencluizlion in stuidetical langnage!
Fanandiiors w ldphly Oocbogiing s pes
lationslup 19 o dureer,
10, (b} The export to UK. and® S, {rom Tncdis
12 inareadtng wondpubtedly Fult not so
much as it is incrdasingin cass af nther

Firw prroensage profit=

3. bk

4. (n):

5. {b):

6. (h):
7. (b
B. (hk

8. (r):

five conntries
1. (dp:

Sinde Ieer 1977  188¢  i494)
.r. o 3 4 !
Bihus B 3 g ]
ME 3 A 5 4
AP 4 T g i
Eimjak I ] 2 P
Harvana 2 2 1 1
Vi Bongal o by | 3

The above table shmes tha s Hoe vank of
W, Bengwl was Btle o 1981 wlhich
beogmes Sid i 1990 The nther statos
ure nat showing 3o much improvea:nent
in thowr performanas,

12, (hpA: rank was 7ebin 1361 wlirh zstill
Tl 1991

L3 o) &, T sand Cs e sk o gl buk
Vs rangy m &0 - 201 = 10
B= runige 45 — 200 < 2
5 rooge 13 43 - 535 =_10
Standard deviazonde-T e SEsimum
mease of A then cote: 5 mt Inast 3D
will be there in cas=“al:’

4. &dy: None ol the conclusmn: as
ez
fr) Puse maplfinfeach subyeet has not

Eeefirmven.
i Back subpees nicasues: cifforenk
Lepes ollubiliczes,

o BeurEd in o porutular subject
depend nol ondy oo the nature of the
sl e orher variables like,
mnterest, aptitalde, aaellpsd ol
fzactina oto. alas Aficoh annrog

Lia) Frorm O to toe lefr 1z the minug =ign off
Xoavd X s 3 peint less than Y.

18. (d): In 4 linear relationztip if one varialla
incroazes by a censtant amouct the
coITes-ponding 1noreass 1n the ather
variahle iz alen constant.

1T e Value wl Y =1 11X 14 1x3— 13
lveresiee i X bmonne Lo 1,2 03 4, §,
and increasn in Y ied, el 50813017, 21

cormech

L. 13w 300 .
1E. {B) T = 4040 Farsas
Lo 1T=3s00G
(| T =05l Chrisligns

Thua ther a»e nat aqual.
9. (hi (125 = 130400/ 100 150 men
(15 = HLOJs LOO = 120 wonien
Ml e nee: = R0 — 1200 = 20
20, (e} (37« 120100 = 350, {30~ 3000 100 =240
360 + 240 = GO0,



